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Unit 6 Practice Exam 2017

Multiple Choice
Identify the choice that best completes the statement or answers the question.

_@p 1. Which of the quadratic functions has the widest graph?
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a. y=—; b. y=-5x* ¢ y=-3’ d y=-=x

always b. sometimes ¢. never

f l éparabola has an axis of symmetry.

4@3 3. For which discriminant is the graph possible?
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a. b'-dac=0 b* —dac=10 c. b'-dac=-8
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Axis of symmetry: x = -0.5 Axis of symmetry: x = 0.5
Vertex: (0.5, 0.75) rtex: (0.5,-0.75) .
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Axis of symmetry: x = -0.5

Vertex: (-0.5,-0.75)

Axis of symmetry: x = -0.5
Vertex: (0.5, 0.75)




Name:

Short Answer

5. Identify the vertex of the graph. Tell whether it is a minimum or maximum.
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6. Order the group of quadratic functions from widest to narrowest graph. )QO» v \A)\Oﬁ_
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Using the discriminant, find the number of real number solutions for the equation.
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10.  Find the equation of the axis of symmelry and the coordinates of the vertex of the graph of the function.
y=2+4x-3

AXIS OF SYMMETRY: X= — / VERTEX: (___ Q
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11. Solve the equation using square roots. x’ /Yé( =-10
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12.  Solve the equation using square roots. 3x = 54
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13. Graphf(x)=x2+4x—3 AOS X = _i—- - F,_L.’L —_—— 2. )L’.: 2
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16. Use the cllscnmma m er of solufions fo he equatlon X +15=0 ‘i C
ey

(YOU DO NOT HAVE TO SOLVE ) L%’O 34 +|

%, b*Mac Ca\ -'{(\ (D

¢z
17. Use the discriminant to find the number of solutions for theequation—x:—~16x—+60="0
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18. Use the Quadratic Formula to solve the equation. 9x* +4x - 16 =0
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19. Use quadratic formula or factoring to solve the equam -
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21. Use quadratic formula or tactoring to solve the equation. —3y? — 5},.5 +—§_| :?i/_;}\ 2
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C= g Solve the equation by quadtzintlc formula or factoring.
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Solve the e uatmn quadratit formuld. Round to the nearest hundredth if neceéssary

23, x*+6x-10=0
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24. Simplify the radical expression. /128 MM M YL S ;
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Simplify the radical expression
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Simplify the radical expression.




